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A 1,000 57.6
(100.0) | (17.2) | (31.8) | (25.0) | (18.1) (8.0)
96 20 43 24 6 3

HERE 139 69.1
(100.0) | (20.8) | (44.8) | (25.0) (6.3) (3.1)
126 14 29 31 31 21

pilbES 190 66.3
(100.0) | (11.1) | (23.0) | (24.6) | (24.6) | (16.7)
2 0 2 0 0 0

TR A IS - KIE 2 100.0
(100.0) | (0.0) | (100.0) | (0.0) (0.0) (0.0)
8 0 4 2 2 0

R SGEE S 8 100.0
(100.0) | (0.0) (50.0) | (25.0) | (25.0) (0.0)
38 2 8 15 12 1

JGELITES 68 55.9
(100.0) | (5.3) (21.1) | (39.5) | (31.6) (2.6)
123 38 46 25 8 6

HI5E < /NTEE 287 42.9
(100.0) | (30.9) | (37.4) | (20.3) (6.5) (4.9)
14 1 3 3 2 5

e LS 31 45.2
(100.0) | (7.1) (21.4) | 21.4) | (14.3) | (35.7)
1 0 0 1 0 0

RENPEZE 1 100.0
(100.0) | (0.0) 0.0) | (100.0) | (0.0 (0.0)
12 1 4 4 3 0

EE. 1EIR¥E 14 85.7
(100.0) | (8.3) (33.3) | (33.3) | (25.0) (0.0)
46 2 5 15 18 6

=, fEfik 53 86.8
(100.0) | (4.3) (10.9) | (32.6) | (39.1) | (13.0)
4 0 1 0 3 0

HE., FEIRE 4 100.0
(100.0) | (0.0) (25.0) (0.0) (75.0) (0.0)
12 4 1 1 6 0

BHE—E A 16 75.0
(100.0) | (33.3) (8.3) (8.3) (50.0) (0.0)
94 17 37 23 13 4

PR 187 50.3
(100.0) | (18.1) | (39.4) | (24.5) | (13.8) (4.3)
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AN v
(R (A) (B) (B/A)
47,066 140,120] 5,881 | 1,065 | 28,873 27,803 733 | 337 | 18,193 [12,317] 5,148 | 728
TS (100.0)| (85.2) | (12.5)] (2.3) | (61.3) | (59.1)| (1.6) | (0.7) | (38.7) | (26.2) (10.9)] (1.5) 30.7
<100.0> [<96.3>] <2.5> | <1.2> | <100.0> |<67.7>]<28.3>| <4.0>
5,646 | 5,410 [ 52 184 | 5,096 [4,959] 26 111 550 451 26 73
S ES (100.0)] (95.8) | (0.9) | (3.3) | (90.3) | (87.8)| (0.5) | (2.0) | (9.7) | (8.0) | (0.5) | (1.3) 8.3
<100.0> [<97.3>] €0.5> | <2.2> | <100.0> |<82.0>] <4.7> [£13.3>
15,049 |13,566( 1,238 | 245 | 10,753 ]10,483| 165 | 105 | 4,296 | 3,083] 1,073 | 140
B EE S (100.0)[ 0.1 | 8.2) | (1.6) | (71.5) [(69.7)| (1.1) | (0.7) | (28.5) |(20.5)] (7.1) | (0.9) 22.7
<100.0> [<97.5>] <1.5> | <1.0> | <100.0> |<71.8>]<25.0>] <3.3>
26 25 1 0 20 19 1 0 6 6 0 0
R A AEMIRS  KEZE | (100.0) [ 96.2) ] (3.8) | 0.0) | (76.9) | (73.1)] (3.8) | (0.0) | (23.1) | (23.1)| (0.0) | (0.0) 24.0
<100.0> 1<95.0>f <5.0> | €0.0> | <100.0> [<100.0>] <0.0> | €0.0>
474 | 450 23 1 325 319 6 0 149 131 17 1
ERESINEES (100.0) [ 94.9) | (4.9) | (0.2) | (68.6) | (67.3)| (1.3) | (0.0) | (31.4) |(27.6)] (3.6) | (0.2) 29.1
<100.0> [<98.2>] <1.8> | <0.0> | <100.0> |<87.9>|<11.4>| <0.7>
2,870 | 2,688 | 136 | 46 2,377 |2,303] 42 32 493 385 94 14
EELTES (100.0)[ @3.7) | (4.7) | (1.6) | (82.8) [(80.2)| (1.5) | (1.1) | (17.2) | (13.49)] (3.3) | (0.5) 14.3
<100.0> [<96.9>] <1.8> | <1.3> | <100.0> |<78.1>]<19.1>| <2.8>
5,827 | 4,245 1,232 350 | 3,119 |2,953| 113 53 2,708 | 1,292] 1,119 297
58« /NFEE (100.0)| (72.9) | (21.1)] (6.0) | (53.5) | 50.7)| (1.9) | (0.9) | (46.5) [(22.2)] (19.2)| (5.1) 30.4
<100.0> [<94.7>] €3.6> | <1.7> | <100.0> |<47.7>]<41.3>]<11.0>
1,212 | 1,188 ] 24 0 788 788 0 0 424 400 24 0
St RIRZE (100.0) | (98.0) | (2.0) | (0.0) | (65.0) | (65.0)| (0.0) | (0.0) | (35.0) |(33.0)] (2.0) | (0.0) 33.7
<100.0> [<€100.0>] <0.0> | <0.0> | <100.0> |<94.3>] <5.7> | €0.0>
66 53 13 0 29 28 1 0 37 25 12 0
THIFEE (100.0)| (80.3) | (19.7)] (0.0) | (43.9) | 42.4)| (1.5) | (0.0) | (56.1) | (37.9)| (18.2)| (0.0) 47.2
<100.0> [<96.6>] <3.4> | <0.0> | <100.0> |<67.6>]<32.4>| <0.0>
838 520 | 266 | 52 357 303 53 1 481 217 | 213 51
/GNP NE ER(EE S (100.0)| (62.1) | B1.7)] (6.2) | (42.6) [ (36.2)| 6.3) | (0.1) | (57.4) |(25.9)](25.4)| (6.1) 41.7
<100.0> [<84.9>|<14.8>] €0.3> | <100.0> |<45.1>|<44.3>]£10.6>
6,583 | 5,839 642 | 102 | 1,474 | 1,396 59 19 5,109 | 4,443 ] 583 83
=P, fEk (100.0) | 88.7) | (9.8) | (1.5) | (22.4) [(21.2)| (0.9) | (0.3) | (77.6) | (67.5)] (8.9) | (1.3) 76.1
<100.0> 1<94.7>| <4.0> | <1.3> | <100.0> [<87.0>|<11.4>] <1.6>
321 262 59 0 215 193 22 0 106 69 37 0
HE .| R (100.0)| (81.6) | (18.4)] (0.0) | (67.0) | 60.1)| 6.9) | (0.0) | (33.0) |(21.5)| (11.5)] (0.0) 26.3
<100.0> 1<89.8>[<10.2>] <0.0> | <100.0> [<65.1>]<34.9>| <0.0>
1,372 | 1,283 68 21 860 853 5 2 512 430 63 19
BHEY—ERHE (100.0)] 93.5)| (5.0) | (1.5) | 62.7) | ®62.2)| (0.4) | (0.1) | 37.3) |(31.3)| (4.6) | (1.4) 33.5
<100.0> 1<99.2>{ <0.6> | <0.2> | <100.0> [<84.0>|<12.3>| <3.7>
6,782 | 4,591 [ 2,127 64 3,460 | 3,206 240 14 3,322 [1,385] 1,887 50
P—e R (100.0)| (67.71) | (31.4)] (0.9) | (51.0) | (47.3)| (3.5) | (0.2) | (49.0) | (20.4)| (27.8)] (0.7) 30.2
<100.0> 1<92.7>1 <6.9> | <0.4> | <100.0> [<41.7>]<56.8>| <1.5>
656 548 93 15 377 346 20 11 279 202 73 4
IALLF (100.0)] 83.5) | (14.2)] 2.3) | (57.5) | G2 | B3.0) | 1.7) | (2.5 [30.8) | (11.1)] 0.6) 36.9
<100.0> 1<91.8>] <5.3> | <2.9> | <100.0> [72.4>]<26.2>| <1.4>
4,172 13,025 [ 1,102 45 2,321 [2,195] 102 24 1,851 | 830 [ 1,000] 21
10~29 A (100.0)| (72.5) | (26.4)| (1.1) | (55.6) | (52.6)| 2.4) | (0.6) | (44.4) |(19.9)| (24.0)] (0.5) 27.4
<100.0> ]<94.6>| <4.4> | <1.0> | <100.0> [<44.8>|<54.0>f <1.1>
8,975 | 7,466 [ 1,315 194 | 5,354 | 5,109 177 68 3,621 | 2,357 ] 1,138 126
30~99 A (100.0)] 83.2) | (14.7)] 2.2) | (59.7) | (56.9)| 2.0) | (0.8) | 40.3) | (26.3)| (12.7)] (1.4) 31.6
<100.0> 1<95.4>{ <3.3> | <1.3> | <100.0> [<65.1>]<31.4>] <3.5>
15,789 [13,417[ 2,088 | 284 | 9,129 [8,720| 291 | 118 | 6,660 |[4,697] 1,797 166
100~299 A (100.0)| (85.0) | (13.2)] (1.8) | (57.8) | (55.2)| (1.8) | (0.7) | “42.2) | (29.7)| (11.4)] (1.1) 35.0
<100.0> 1<95.5>| <3.2> | <1.3> | <100.0> [£70.5>]<27.0>| <2.5>
17,474 |15,664| 1,283 | 527 | 11,692 [11,433] 143 | 116 | 5,782 [4,231] 1,140 | 411
300 AL E (100.0)| (89.6) | (7.3) | (3.0) | (66.9) | 65.4)| 0.8) | (0.7) | (33.1) |(24.2)| 6.5) | (2.4) 27.0
<100.0> 1<97.8>) <1.2> ] <1.0> | <100.0> [<73.2>]<19.7>| <7.1>
19,425 |17,517| 1,203 | 705 | 13,541 |13,160| 184 | 197 | 5,884 | 4,357 ] 1,019 508
FERA ) (100.0)| 90.2) | 6.2) | 3.6) | (69.7) |®67.7)| (0.9 | (1.0) | (30.3) | (22.4)] (5.2) | (2.6) 24.9
<100.0> 1<97.2>| <1.4> | <1.5> | <100.0> [<74.0>]<17.3>| <8.6>
27,641 [22,603] 4,678 | 360 | 15,332 [14,643] 549 | 140 | 12,309 [ 7,960 [ 4,129 220
AR A () (100.0)| 81.8) | (16.9)] (1.3) | (55.5) [ (53.0)| (2.0) | (0.5) | (44.5) |(28.8)](14.9)| (0.8) 35.2
<100.0> 1<95.5>{ <3.6> ] <0.9> | <100.0> [<64.7>]<33.5>| <1.8>
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"
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F4 WHHBHELNYIZ0O LEB OFTE S BRI (FEHTEE)
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N . NIALS
2 ) PR éﬁ’%
5 %E[%/E%T 40:00 40:01 [42:01 44:01 46:01 48:00
. S | 10:00) |~ Jagio0| | d6:00 | [ asz00 | T (R 5)
e Sl 42:00] 43:59 45:59 47:59
e 576 142 346 27 4 29 8 1 0 18 1 40:12
(100.0) | (24.7) 1 (60.1) | (4.7) | (0.7) | (5.0) | (1.4) | (0.2) | (0.0) | (3.1) | (0.2)
E 96 15 64 6 1 4 2 1 0 3 0 4035
(100.0) | (15.6) | (66.7) | (6.3) | (1.0) | (4.2) | (2.1) | (1.0) | (0.0) | (3.1) | (0.0)
s 126 45 70 5 0 5 1 0 0 0 0 9934
(100.0) | (35.7) | (55.6) | (4.0) | (0.0) | (4.0) | (0.8) | (0.0) | (0.0) | (0.0) | (0.0)
P Y TSI Y I I Mt IR AR U IS A IS IR IS T
(100.0) | (0.0) |(100.0)| (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0)
B 8 6 2 0 0 0 0 0 0 0 0 '
IhALm (S (100.0) | (75.0) | (25.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) 3Tt
e 38 6 28 0 0 1 1 0 0 2 0 40:93
(100.0) | (15.8) | (73.7) | (0.0) | (0.0) | (2.6) | (2.6) | (0.0) | (0.0) | (5.3) | (0.0)
17 /v 2 123 24 64 8 1 14 1 0 0 11 0 4050
(100.0) | (19.5) | (52.0) | (6.5) | (0.8) | (11.4) | (0.8) | (0.0) | (0.0) | (8.9) | (0.0)
_ s 14 10 4 0 0 0 0 0 0 0 0 '
- (100.0) | 710 | 8.8 | 00 | 00 | 00 | 0.0 | 0.0 | 0o |00 |00 |
R 1 0 1 0 0 0 0 0 0 0 0
AR (100.0) | (0.0) |(100.0)| (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) 10:00
N 12 2 7 1 0 0 1 0 0 0 1 '
BRI, FiH R (100.0) | (16.7) ] (58.3) | (8.3) | (0.0) | (0.0) | (8.3) | (0.0) | (0.0) | (0.0) | (8.3) A1:00
_ 46 12 34 0 0 0 0 0 0 0 0
Sl (100.0) | (26.1) | (73.9) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) 99:36
s pa o 4 1 3 0 0 0 0 0 0 0 0] '
A PR (100.0) | (25.0) | (75.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) 59:51
- . R 12 4 6 1 0 1 0 0 0 0 0
A (100.0) | (33.3) ] (50.0) | (8.3) | (0.0) | (8.3) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) 99239
R 94 17 61 6 2 4 2 0 0 2 0 40:91
(100.0) | (18.1) | (64.9) | (6.4) | (2.1) | 4.3) | (2.1) | (0.0) | (0.0) | (2.1) | (0.0)
9T 99 12 44 10 2 18 2 0 0 10 1 41:35
(100.0) | (12.1) | (44.4) | (10.1) | (2.0) | (18.2) | (2.0) | (0.0) | (0.0) |(10.1) | (1.0)
10~29 A 183 34 118 13 2 6 3 1 0 6 0 40:95
(100.0) | (18.6) | (64.5) | (7.1) | (1.1) | (3.3) | (1.6) | (0.5) | (0.0) | (3.3) | (0.0)
30~99 A 144 38 96 3 0 3 2 0 0 2 0 9956
(100.0) | (26.4) | (66.7) | (2.1) | (0.0) | (2.1) | (1.4) | (0.0) | (0.0) | (1.4) | (0.0)
100~299 A 104 31 70 0] 0 2 1 0 0 0 0 99:97
(100.0) | (29.8) | (67.3) | (0.0) | (0.0) | (1.9) | (1.0) | (0.0) | (0.0) | (0.0) | (0.0)
30001 F 46 27 18 1 0 0 0 0 0 0 0 9856
(100.0) | (68.7) 1 (39.1) | (2.2) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0)
oo A 98 53 41 3 0 0 1 0 0 0 0 '
L) (100.0) | (54.1) | (41.8) | (3.1) | (0.0) | (0.0) | (1.0) | (0.0) | (0.0) | (0.0) | (0.0) 98156
LA () 478 89 305 24 4 29 7 1 0 18 1 40:98
(100.0) | (18.6) | (63.8) | (5.0) | (0.8) | (6.1) | (1.5) | (0.2) | (0.0) | (3.8) | (0.2)
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AR 39:20
(100.0) | (43.5) | (53.2) | (1.2) | 0.1) | (1.1) | (0.3) | €0.0) | (0.0) | (0.5) | (0.0)
s 5,410 | 1,895 | 3,305 | 76 21 62 13 8 0 30 0
R 39:27
(100.0) | 35.0) | (61.1) | (1.4) | (0.4) | (1.1) | ©0.2) | (©.1) | (0.0) | (0.6) | (0.0)
. 13,566 | 8,723 | 4,516 | 135 0 150 | 42 0 0 0 0
fE¥E 39:03
(100.0) | (64.3) | (33.3) | (1.0) | (0.0) | (1.1) | (0.3) | €0.0) | (0.0) | (0.0) | (0.0)
mae om0 0o e p 0o 8 8 B B B P o
(100.0) | (0.0) [(100.0)| (0.0) | (0.0) | (0.0) | (0.0) | €0.0) | (0.0) | (0.0) | (0.0)
T — 450 420 | 30 0 0 0 0 0 0 0 0 56.14
(100.0) | (93.3) | 6.7) | (0.0) | (0.0) | (0.0) | (0.0) | €0.0) | (0.0) | (0.0) | (0.0)
e 2,688 | 550 | 2,010 o0 0 48 25 0 0 55 0
pELTES 39:53
(100.0) | (20.5) | (74.8) | (0.0) | (0.0) | (1.8) | (0.9) | (0.0) | (0.0) | (2.0) | (0.0)
. 4,245 | 1,273 | 2,631 | 102 18 94 17 0 0 110 0
HEITAVANTE S 39:40
(100.0) | (30.0) | (62.0) | (2.4) | (0.4) | 2.2) | (0.4) | (0.0) | (0.0) | (2.6) | (0.0)
1,188 | 1,083 | 105 0 0 0 0 0 0 0 0
At IR ’ ’ 38:07
- (R (100.0) | (91.2) | (8.8) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0)
53 0 53 0 0 0 0 0 0 0 0
N 40:00
IR (100.0) | (0.0) [(100.0)| (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0) | (0.0)
520 186 | 294 | 19 0 0 15 0 0 0 6
f NEERIEE 39:46
TR, AR (100.0) | (35.8) | (56.5) | 3.7) | (0.0) | (0.0) | (2.9) | (0.0) | (0.0) | (0.0) | (1.2)
— 5,839 | 2,022 3817 o0 0 0 0 0 0 0 0 30:6
(100.0) | (34.6) | (65.4) | (0.0) | (0.0) | (0.0) | (0.0) | €0.0) | €0.0) | (0.0) | (0.0)
262 44 | 218 0 0 0 0 0 0 0 0
G 39:56
R (100.0) | (16.8) | 83.2) | 0.0) | ©0.0) | 0.0) | 0.0) | ©.0) | ©.0) | 0.0) | (0.0)
N 1,283 | 511 | 757 6 0 9 0 0 0 0 0 10:05
(100.0) | (39.8) | (59.0) | (0.5) | (0.0) | (0.7) | (0.0) | €0.0) | €0.0) | (0.0) | (0.0)
L 4,591 | 743 | 3,598 | 129 9 65 22 0 0 25 0
P—t ¥ 39:54
(100.0) | (16.2) | (78.4) | (2.8) | (0.2) | (1.4) | (0.5) | (0.0) | 0.0) | (0.5) | (0.0)
o LT 548 74 | 241 | 48 9 92 12 0 0 66 6 14
(100.0) | (13.5) | (44.0) | 8.8) | (1.6) | (16.8) | (2.2) | (0.0) | (0.0) [(12.0) | (1.1)
3,041 | 625 | 1,952 | 211 | 39 78 42 8 0 86 0
10~29 A 40:15
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S (100.0) | (2.4) (1.6) | (73.0) (38.9) (11.1) (9.5) (12.7) (0.8) (23.0)
<100.0>| <53.3> <15.2> <13.0> 174 4.
2 0 0 2 1 0 0 0 1 0
ER A EMAS - kEZE | (100.0) | (0.0) 0.0) | (100.0) | (50.0) 0.0) (0.0) (0.0) (50.0) 0.0)
<100.0>| <50.0> <0.0> <0.0> <0.0> <50.0>
8 0 0 8 5 1 1 0 1 0
RS EE S (100.0) | (0.0 0.0) | (100.0) | (62.5) (12.5) (12.5) (0.0) (12.5) 0.0)
<100.0>| <62.5> <12.5> <12.5> <0.0> <12.5>
38 5 2 28 8 4 4 10 2 3
pELES (100.0) | (13.2) | (5.3) | (73.7) (21.1) (10.5) (10.5) (26.3) (5.3) (7.9)
<100.0>| <28.6> <14.3> <14.3> <35.7> 7.1
123 14 6 93 35 16 13 23 6 10
78/ NEZE (100.0) | (11.4) | (4.9) | (75.6) (28.5) (13.0) (10.6) (18.7) (4.9 8.1
<100.0>| <37.6> 17.2> <14.0> <24.7> <6.5>
14 0 0 14 14 0 0 0 0 0
A PRI ZE (100.0) | (0.0 (0.0) |(100.0) | (100.0) 0.0) (0.0) (0.0) 0.0) 0.0)
<100.0> | <100.0> <0.0> <0.0> <0.0> <0.0>
1 0 0 1 1 0 0 0 0 0
REhpEzE (100.0) | (0.0) 0.0) | (100.0) | (100.0) (0.0) (0.0) (0.0 (0.0) (0.0)
<100.0> | <100.0> <0.0> <0.0> <0.0> <0.0>
12 1 1 6 1 2 0 2 1 4
RN, 15N (100.0) | (8.3) 8.3) | (50.0) (8.3) (16.7) (0.0) (16.7) (8.3) (33.3)
<100.0>| <16.7> <33.3> <0.0> <33.3> <16.7>
46 0 7 35 24 5 1 4 1 4
=, fEfik (100.0) | (0.0) | (15.2) | (76.1) (52.2) (10.9) (2.2 8.7 2.2) 8.7
<100.0>| <68.6> <14.3> <2.9> <11.4> <2.9>
4 0 0 4 3 0 1 0 0 0
HE . FEEE (100.0) | (0.0) 0.0) | (100.0) | (75.0) (0.0) (25.0) (0.0) 0.0) (0.0)
<100.0>| <75.0> <0.0> <25.0> £0.0> £0.0>
12 0 0 11 4 2 2 3 0 1
HAEV—ERFEE (100.0) | (0.0) 0.00 | 91.7) (33.3) (16.7) (16.7) (25.0) 0.0) (8.3)
<100.0>| <36.4> <18.2> <18.2> <27.3> £0.0>
94 14 5 67 37 5 5 13 7 8
PR (100.0) | (14.9) | (5.3) | (71.3) (39.4) (5.3) (5.3) (13.8) (7.4) (8.5)
<100.0>| <55.2> {7.5> <7.5> <19.4> <10.4>
99 17 5 71 25 4 15 21 6 6
INLLT (100.0) | (17.2) (5.1) (71.7) (25.3) (4.0) (15.2) (21.2) 6.1) 6.1)
<100.0>| <35.2> <5.6> QLD <29.6> <8.5>
183 19 7 129 51 17 21 32 8 28
10~29 A (100.0) | (10.4) | (3.8) | (70.5) (27.9) (9.3) (11.5) (17.5) (4.4) (15.3)
<100.0>| <39.5> <13.2> <16.3> <24.8> <6.2>
144 8 8 114 51 24 8 25 6 14
30~99 A (100.0) | (5.6) (5.6) (79.2) (35.4) (16.7) (5.6) (17.4) (4.2) 9.7
<100.0>| <44.7> QLD <7.0> <21.9> <5.3>
104 4 3 78 43 14 9 11 1 19
100~299 A (100.0) | (3.8) 2.9 | (75.0) (41.3) (13.5) 8.7 (10.6) (1.0) (18.3)
<100.0>| <55.1> <17.9> <11.5> <14.1> <1.3>
16 1 1 37 29 4 1 3 0 7
300 AL E (100.0) | (2.2) (2.2) | (80.4) (63.0) 8.7 (2.2) (6.5) (0.0) (15.2)
<100.0>| <78.4> <10.8> <2.7> <8.1> £0.0>
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FHEHE A CH) (100.0) | (3.1) (3.1) | (77.6) (43.9) (16.3) (5.1) (12.2) 0.0) (16.3)
<100.0> | <56.6> QLD <6.6> <15.8> £0.0>
478 16 21 353 156 47 49 80 21 58
5 fRE A () (100.0) | (9.6) (4.4) | (73.8) (32.6) (9.8) (10.3) (16.7) (4.4) (12.1)
_1<100.0>] <44.2> <13.3> <13.9> <92.7> <5.9>
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40,120 | 1,087 983 29,787 | 17,598 | 5,087 | 2,609 [ 3,925 568 8,263
A A (100.0) | (2.7 (2.5) (74.2) | (43.9) | (12.7) (6.5) (9.8) (1.4) (20.6)
<100.0> | <59.1> | <17.1> | <8.8> | <13.2> | <1.9>
5,410 171 5 4,733 | 2,028 1,378 595 726 6 501
e (100.0) | (3.2) 0.1) (87.5) | (37.5) | (25.5) | (11.0) | (13.4) 0.1) 9.3)
<100.0> | <42.8> | <29.1> | <12.6> | <15.3> | <0.1>
13,566 62 113 7,843 | 5,495 1,002 618 694 34 5,548
e (100.0) | (0.5) 0.8) (57.8) | (40.5) (7.4) (4.6) (5.1) (0.3) (40.9)
<100.0> | <70.1> | <12.8> | <7.9> | <8.8> | <0.4>
25 0 0 25 11 0 0 0 14 0
FR M ABBEG  kEZE | (100.0) | (0.0) 0.0) | (100.0) | (44.0) (0.0) (0.0) (0.0) (56.0) (0.0)
<100.0> | <44.0> | <0.0> [ <0.0> | <0.0> | <56.0>
450 1 0 449 352 65 13 0 19 0
R SEAEES (100.0) | (0.2) (0.0) (99.8) | (78.2) | (14.4) (2.9) (0.0) (4.2) (0.0)
<100.0> | <78.4> | <14.5> | <2.9> | <0.0> | <4.2>
2,688 291 247 1,834 462 419 227 621 105 316
T (100.0) | (10.8) 9.2) (68.2) | (17.2) | (15.6) (8.4) (23.1) (3.9) (11.8)
<100.0> | <25.2> | <22.8> | <12.4> | <33.9> | <5.7>
4,245 144 108 3,540 1,972 441 658 407 62 453
DN S (100.0) | (3.4) (2.5) (83.4) | (46.5) | (10.4) | (15.5) (9.6) (1.5) (10.7)
<100.0> | <55.7> | <12.5> | <18.6> | <11.5> | <1.8>
1,188 0 0 1,188 1,188 0 0 0 0 0
At - PR IR EE (100.0) | (0.0) (0.0) | (100.0) | (100.0) | (0.0) (0.0) (0.0) (0.0) (0.0)
<100.0> | <100.0> | <0.0> | <0.0> | <0.0> | <0.0>
53 0 0 53 53 0 0 0 0 0
RENESE (100.0) | (0.0) 0.0) | (100.0) | (100.0) | (0.0) (0.0) (0.0) (0.0) (0.0)
<100.0> | <100.0> | <0.0> | <0.0> | <0.0> | <0.0>
520 13 15 135 50 38 0 25 22 357
RIE, HIAFE (100.0) | (2.5) (2.9) (26.0) (9.6) (7.3) (0.0) (4.8) (4.2) (68.7)
<100.0> | <37.0> | <28.1> [ <0.0> | <18.5> | <16.3>
5,839 0 342 4,867 | 2,770 926 160 938 73 630
., ik (100.0) | (0.0) (5.9) (83.4) | (47.4) | (15.9) 2.7 (16.1) (1.3) (10.8)
<100.0> | <56.9> | <19.0> | <3.3> | <19.3> | <1.5>
262 0 0 262 158 0 104 0 0 0
HE . FEIEE (100.0) | (0.0) 0.0) | (100.0) | (60.3) 0.0) (39.7) (0.0) 0.0) 0.0)
<100.0> | <60.3> | <0.0> | <39.7> | <0.0> | <0.0>
1,283 0 0 1,272 676 463 5 128 0 11
HE—E 2% (100.0) | (0.0) 0.0) (99.1) | (52.7) | (36.1) (0.4) (10.0) 0.0) 0.9)
<100.0> | <53.1> | <36.4> | <0.4> | <10.1> | <0.0>
4,591 405 153 3,586 | 2,383 355 229 386 233 447
F—e R (100.0) | (8.8) (3.3) (718.1) | (51.9) (7.7 (5.0) (8.4) (5.1) 9.7)
<100.0> | <66.5> | <9.9> | <6.4> | <10.8> | <6.5>
548 87 31 398 138 21 81 117 41 32
INLLT (100.0) | (15.9) (5.7 (72.6) | (25.2) (3.8) (14.8) | (21.9) (7.5) (5.8)
<100.0> | <34.7> | <5.3> | <20.4> | <29.4> | <10.3>
3,025 275 90 2,183 847 286 368 529 153 477
10~29 A (100.0) | (9.1) (3.0) (72.2) | (28.0) 9.5) (12.2) | (17.5) (5.1) (15.8)
<100.0> | <38.8> | <13.1> | <16.9> | <24.2> | <7.0>
7,466 247 422 5,987 | 2,856 | 1,132 432 1,304 263 810
30~99 A (100.0) | (3.3) (5.7 (80.2) | (38.3) | (15.2) (5.8) (17.5) (3.5) (10.8)
<100.0> | <47.7> | <18.9> | <7.2> | <21.8> | 4.4
13,417 331 329 10,159 | 5,332 | 2,290 | 1,273 1,153 111 2,598
100~299 A (100.0) | (2.5) 2.5) (75.7) | (39.7) | (17.1) (9.5) (8.6) (0.8) (19.4)
<100.0> | <52.5> | <22.5> | <12.5> | <11.3> | <1.D>
15,664 147 111 11,060 | 8,425 1,358 455 822 0 4,346
300 A LAk (100.0) | (0.9) 0.7 (70.6) | (53.8) 8.7 (2.9) (5.2) (0.0) ©27.7)
<100.0> | <76.2> | <12.3> | <4.1> | <7.4> | <0.0>
17,517 103 358 12,438 | 7,877 | 2,632 383 1,546 0 4,618
T A CR) (100.0) | (0.6) (2.0) (71.0) | (45.0) | (15.0) (2.2) (8.8) 0.0) (26.4)
<100.0> | <63.3> | <21.2> | <3.1> | <12.4> | <0.0>
22,603 984 625 17,349 | 9,721 | 2,455 | 2,226 | 2,379 568 3,645
55 A () (100.0) | (4.4) 2.8) (76.8) | (43.0) | (10.9) (9.8) (10.5) (2.5) (16.1)
<100.0> | <56.0> | <14.2> | <12.8> | <13.7> | <3.3>
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S (100.0){(76.4)[(23.6)](100.0)|(91.5)] (8.5) [(100.0)[(80.7)1(19.3)(100.0)| (8.7) [(91.3){(100.0)| (8.3) |(91.7)
e 96 71 25 96 96 0 96 91 5 96 8 88 96 9 90
i (100.0)[(74.0)1(26.0)[(100.0)[(100.0)] (0.0) [(100.0)[(94.8)| (5.2) [(100.0)| (8.3) [(91.7)[(100.0)| (6.3) [(93.8)
s 126 104 22 126 121 5 126 114 12 126 23 103 126 18 108
1o
(100.0){(82.5)[(17.5)](100.0)|(96.0)| (4.0) [(100.0){(90.5)] (9.5) |(100.0)|(18.3) [(81.7){(100.0){(14.3) |(85.7)
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B A B - G
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(100.0)[(100.0)| (0.0) [(100.0)[(100.0)] (0.0) [(100.0)[(75.0)[(25.0)[(100.0){(12.5)[(87.5)[(100.0){(12.5)|(87.5)
38 28 10 38 29 9 38 29 9 38 3 35 38 1 37
EELTES
(100.0){(73.7)[(26.3)](100.0)|(76.3)](23.7)[(100.0) [ (76.3) | (23.7) |(100.0) | (7.9) [(92.1)[(100.0)]| (2.6) |(97.4)
e 123 88 35 123 114 9 123 102 21 123 4 119 123 9 114
U (100.0)|(71.5)| 28.5)] (100.0)[02.7)] (7.3) [100.0)|82.9) [ (17.1) |100.0)| 3.3) |06.7) |(100.0)| (7.3) |(02.7)
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(100.0){(100.0)| (0.0) [(100.0){(100.0)] (0.0) [(100.0)[(35.7)[(64.3)[(100.0)| (0.0) [(100.0)[ (100.0)| (0.0) |(100.0)
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R
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(100.0){(77.0)[(23.0)](100.0)|(94.0)| (6.0) [(100.0)[(84.7)1(15.3)|(100.0)| (5.5) [(94.5){(100.0)]| (5.5) |(94.5)
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(100.0){(75.0)[(25.0)|(100.0)|(87.5)](12.5)[(100.0)[(79.2) | (20.8) |(100.0) | (11.1) [(88.9) [(100.0) | (9.7) |(90.3)
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5840 2 (i)
(100.0){(76.4)[(23.6)](100.0)|(92.9)] (7.1) [(100.0)[(84.5)|(15.5)|(100.0)| (5.6) [(94.4){(100.0)]| (5.9) |(94.1)
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642 13 47 55 275 156 24 72
2. fivht
IR fat (100.0) 2.0) (7.3) (8.6) (12.8) | (24.3) 3.7) (11.2)
e v s 59 2 4 28 13 7 0 5
R (100.0) (3.4) 6.8) 475 | 20 | a1.9 0.0) 8.5)
e 68 3 2 1 19 38 0 5
gk (100.0) (4.4) (2.9 (1.5) (27.9) (55.9) 0.0) (7.4)
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e 5 0 5 5 0 3 9 0 5
RRE(ER (100.0) | (0.0) | (100.0) | 100.0) | (0.0) | (60.0) | (40.0) | (0.0) | (100.0)
s 17 9 15 10 7 8 9 4 13
e (100.0) | (11.8) | 88.2) | 58.8) | (41.2) | (47.1) | (52.9) | (23.5) | (76.5)
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e st 4 0 4 1 3 2 2 0 4
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